Infroduce Weight and Mass

Complete the sentences below.

The chair is

The spoon is

The chair is

( Word Bank )
light
lighter than

heavy

\ heavier than |

the spoon.

The spoon is

the chair.

Circle the name of the heaviest food on each set of scales.
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cupcake apple
doughnut pear
equal weight equal weight
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sweetcorn
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broccoli

equal weight

Tick the correct statements.

B is heavier than A.

A is heavier than B.

O
A is lighter than B. v

A and B have an equal mass.
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Infroduce Weight and Mass

Complete the sentences below. / Word Bank )

light
The chair is heavy . lighter than

heavy

The spoon is light . \ heavier than )

The chair is heavier than the spoon.

- The spoon is lighter than the chair.

Circle the name of the heaviest food on each set of scales.
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cupcake sweetcorn
pear broccoli
equal weight equal weight equal weight
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Tick the correct statements.

B is heavier than A.| vV

8
=

A is heavier than B.

O
A is lighter than B.| v v

A and B have an equal mass. v
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